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SECTION-I
1 A  Explain about class and object in python with an example. [6M]
B Explain polymorphism with class methods in python with an example? [8M]
OR
2 A  Explain different types of methods in python with an example. [6M]
B  Describe various forms of inheritance in python with example. [8M]
SECTION-I1
3 A  Define Non-Linear Data Structure. Explain any two Non-Linear Data [TM]
Structures with an example.
B  Write in brief about Dictionaries in python. Write operations with suitable [7TM]
examples.
OR
4 A  Explain about comprehensions and its types in python with an example. [TM]
B Differentiate between Lists and Tuples in Python with an example. [7TM]
SECTION-111
5 A What is an array? What are the operations performed on arrays. [5M]
B  Write a Python program for Insertion Sort. [9M]
OR
6 A Write a Python program to implement the binary search. [TM]
B  Sort the following list of elements by using Selection sort 30, 56, 78, 99, [7TM]
12, 43, 10, 24, 85
SECTION-1V
7 A  Explain insert and delete operations in doubly linked list. [5M]
B  Write a python program to implement Queue using Singly linked list. [9M]
OR

8 A  Given a doubly linked list for the following elements in order: 2, 3, 4,5,6,7, [5M]
8, 9. Explain the steps to delete element 8.

B  Write a python program to implement stack using Singly linked list. [9M]
SECTION-V
9 A Explain BFS Graph Traversal with an example. List two applications of [5M]
graphs.
B  Construct the binary tree whose following traversals are given: [9M]
inorder : DFEIHBAJCNOMK postorder: FIHEDBJONMKCA
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OR
Give any two representations of graph. Demonstrate DFS using suitable
example.
Show each step of the AVL Tree built from a sequence of insertions

[5M]

[OM]

corresponding to the following keys 44,17,32,78,50,54,62,48,88? Delete the

elements 62, 17 and 48 from the AVL tree.
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